
HIP THRUST MACHINE
HTM-800 





1. Keep children and pets away from this equipment.

1



HIP THRUST MACHINE WARRANTY

You are covered by the Basic Warranty if you are a purchaser for use of the RitFit 
Hip Thrust Machine.

The Basic Warranty covers the cost of all parts and labor needed to repair any item on 
your Hip Thrust Machine that is defective in material workmanship or factory prearation 
after leaving the manufacturing plant. These warranty repairs or adjustments will be 
made by RitFit at on charge, using new or remanufactured parts.

Please note thar while the standard Basic Warranty applies to defects in material and/or 
workmanship, it does not cover the Hip Thrust Machine matte finish appearance. Main-
taining the matte finish appearance is solely the responsbility of the owner. Basic War-
ranty doesn’t cover damage caused by environmental factors such as airborn fallout, 
insect damage, chemicals, salt, and ocean spary. Nor do your warranty cover damage 
caused by hailstorms, windstorms, tornadoes, sandstorms, lightning, floods, and earth-
quakes. Your warranty does not cover conditions resulting from anything impacting the 
Hip Thrust Machine.

.

2



Thank you for selecting the versatile RitFit® Hip Thrust Machine. RitFit® Hip thrust 
Machine is designed and manufactured to optimize users’ workout performance of hip
muscle training. 

For your benefit, read this manual carefully before using the Hip Thrust Machine. If 
you have additional questions, please call our Customer Service Department at +1315 
636 0959, 9:00 am - 5:00 pm PST (Mon.-Fri.). To help us assist you, please note the prod-
uct model number and serial number before calling. The model number is HTM-800.

CAPACITY : 800LB

3

Back Pad

Right SideLeft Side

Rubber Mat

Band Peg

Roller Pad

Wheel

Handle



Cross Beam With Handle 
Cross Beam 8 

7 
１ 
1 

Cross Beam With Handle
1x 

7 Cross Beam
1x 

8

Left Beam 
Right Beam 

Rubber Mat Support
Triangle Fixator (Right) 
Triangle Fixator (Left) 

Roller Pad 1 
1 
1 
2 
１ 
1 

Left Beam
1x 

1

Right Beam
1x 

2

Rubber Mat 
Support

2x 

3 Triangle Fixator 
(Right)

1x 

4 Triangle Fixator 
(Left)

1x 

5

Roller Pad
1x 

6

4
4



Open-ended Wrench
1X 

Back Pad Support
Back Pad 

Roller Pad Support 
Rubber Mat 2 12 

6mm Allen Key 1 13
5mm Allen Key 1 14 

Open-ended Wrench 1 15 

11 
10 
9 

1 
1 
1 

Back Pad Support
1x 

9 Back Pad
1x

10 Roller Pad Support
1x 

11

Rubber Mat
2x 

12 13 14

15

6mm Allen Key
1X 

5mm Allen Key
1X 

5
5



M10*60 Hexagon Socket Button Head Screw 
M8*55 Hexagon Socket Button Head Screw 
M8*35 Hexagon Socket Button Head Screw

M6*20 Hex Bolt

A
B
C
D

2
20
4
8

M8 Washer
M10 WasherE 2

M6 Washer 
M8 Nut 

F
G
H

44
8
20

M10*60 Hexagon socket button head screw
2X 

A

M8*55 Hexagon socket button head screw
20X 

B

M8*35 Hexagon socket button head screw
4X 

C

M6*20 Hex Bolt
8X 

D

M10 Washer
2X 

E

M8 Washer
44X 

F

M8 Nut
20X 

H

55mm or 2.16 ”

8mm or 0.32 ”
8mm M8 Nut

Bolt M8x55

M6 Washer
8X 

G

6



Rubber Mat Support 3
7
8
C
F

2
1
1
4
8

Cross Beam With Handle
Cross Beam 

M8*35 Hexagon Socket Button Head Screw 
M8 Washer 

H 4M8 Nut  

7

STEP 1

8

C
F

H

4X

F

3

7



STEP 2
Left Beam  1

2
B
F

1
1

12
20

Right Beam 
M8*55 Hexagon Socket Button Head Screw

M8 Washer
H 8M8 Nut

B

F

4X8X

1

2

H

F

F
B

8



STEP 3
Triangle Fixator (Right)4

5

B

1
1

4

Triangle Fixator (Left) 
Back Pad Support9

10
1
1Back Pad 

Roller Pad Support11
A

1
2M10*60 Hexagon Socket Button Head Screw 

M8*55 Hexagon Socket Button Head Screw
D 8M6*20 Hex Bolt 
E
F
G
H

2
8
8
4

M10 Washer 
M8 Washer 
M6 Washer 

M8 Nut 

10

Step 3a Step 3b

2X

D

G

4

9 BF FH

11A E E A

5

9



STEP 4
M8*55 Hexagon Socket Button Head ScrewB

F
H

4
8
4

M8 Washer
M8 Nut

2X

H

FB

F

10



STEP 5
Roller Pad

Rubber Mat
6 
12

1
2

12

6

11



You have assembled the HIP THRUST MACHINE!

Now, you can officially start your hip training!

62.5 inch

27 inch

21
 in

ch

12





www.ritfitsports.com
support@ritfitsports.com

SUBSCRIBE WEBSITE AND GET

GOT A PROBLEM? GET IN TOUCH

GET SOCIAL WITH US
Free Exercise Ebook

Lastest Updates
@ritfit. sports




